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GENERAL APTITUDE

1. If the radius of a circle is 3 cm, what is the area of the circle in sq. cm ?

(A) 6 sq. cm (B) 9 sq. cm

(C) 3/2 sq. cm (D) 92 sq. cm

3

(A) 6 (B) 9 

(C) 3/2 (D) 92 

2. If 2n–1 + 2n+1 = 320, then n is equal to :

(A) 5 (B) 6

(C) 7 (D) 8

2n–1 + 2n+1 = 320 n

(A) 5 (B) 6

(C) 7 (D) 8

3. The value of 
1 2 35 1 103 9 4 11 5

     
 

 

 = ?

(A) 15 (B)
67
25

(C)
128
11 (D)

128
99
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(A) 15 (B)
67
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(C)
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11 (D)
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99

4. Ten years ago, a man was seven times as old as his son. Two years hence, twice

his age will be equal to five times the age of his son. What is the present age

of the son ?

(A) 12 years (B) 13 years

(C) 14 years (D) 15 years

(A) 12 (B) 13

(C) 14 (D) 15

5. A man crosses a road 250 metres wide in 75 seconds. His speed in km/hr is :

(A) 10 (B) 12

(C) 12.5 (D) 15

250 75

(A) 10 (B) 12

(C) 12 5 (D) 15
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6. The value of 1.5625  is :

(A) 1.05 (B) 1.25

(C) 1.45 (D) 1.55

1.5625

(A) 1.05 (B) 1.25

(C) 1.45 (D) 1.55

7. If a * b = 2a – 3b + ab, then 3 * 5 + 5 * 3 is equal to :

(A) 22 (B) 24

(C) 26 (D) 28

a * b = 2a – 3b + ab 3 * 5 + 5 * 3

(A) 22 (B) 24

(C) 26 (D) 28

8. 100 oranges are bought at the rate of Rs. 350 and sold at the rate of Rs. 48 per

dozen. The per cent of profit or loss is :

(A)
214 %7  gain (B) 15% gain

(C)
214 %7  loss (D) 15% loss

100 350 48

(A)
214 %7  (B) 15% 

(C)
214 %7  (D) 15% 
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9. The average of the multiples of 4 between 10 and 40 is :

(A) 16 (B) 20

(C) 24 (D) 28

10 40 4

(A) 16 (B) 20

(C) 24 (D) 28

10. Find the roots of the quadratic equation x2 + 4x – 21 = 0.

(A) – 7, 3 (B) 7, – 3

(C) 7, 3 (D) – 7, – 3

x2 + 4x – 21 = 0

(A) – 7, 3 (B) 7, – 3

(C) 7, 3 (D) – 7, – 3

11. Eye : Wink :: Heart : ..............

(A) Move (B) Pump

(C) Throb (D) Quiver

(A) (B)

(C) (D)
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12. Direction : Read the following information carefully and answer the question

given below :

A man walks 5 km toward the South and then turns to the right. After walking

3 km, he turns to the left and walks 5 km.

Now in which direction is he from the starting place ?

(A) West (B) South

(C) North-East (D) South-West

5

3 5

(A) (B)

(C) (D)

13. Direction : Choose the correct alternative from the given ones that will complete

the series :

6, 13, 28, 59, ?, 249

(A) 118 (B) 120

(C) 122 (D) 124

6, 13, 28, 59, ?, 249

(A) 118 (B) 120

(C) 122 (D) 124
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14. Pointing to a photograph, Bijender said, "He is the son of the only daughter of

the father of my brother." How is Bijender related to the man in the photograph ?

(A) Nephew (B) Brother

(C) Father (D) Maternal Uncle

(A) (B)

(C) (D)

15. If P means 'division', T means 'addition', M means 'subtraction' and D means

'multiplication', then what will be the value of the expression

12 M 12 D 28 P 7 T 15 ?

(A) – 45 (B) – 30

(C) – 21 (D) – 15

P T M D

12 M 12 D 28 P 7 T 15

(A) – 45 (B) – 30

(C) – 21 (D) – 15
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16. Find the missing term :

(A) 6 (B) 12

(C) 20 (D) 32

(A) 6 (B) 12

(C) 20 (D) 32

17. Direction : Study the following question carefully and choose the right answer :

If "ANANT" is coded as "BPDRY", then "MANOJ" will be coded as which of

the following options ?

(A) NDQSO (B) NCPSO

(C) NCQSO (D) NCQSP

ANANT BPDRY MANOJ

(A) NDQSO (B) NCPSO

(C) NCQSO (D) NCQSP
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18. Find out which of the diagrams as given in the alternatives correctly represents

the relationship stated below :

Honey-Bee, Insect, Housefly

(A) (a) (B) (b)

(C) (c) (D) (d)

(A) (a) (B) (b)

(C) (c) (D) (d)

19. In a row of boys, A is 20th from the left and B is 16th from the right. If they

interchange their positions, then A becomes 30th from left. How many boys are

there in the row ?

(A) 44

(B) 45

(C) 46

(D) 48
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A 20 B 16

A 30

(A) 44

(B) 45

(C) 46

(D) 48

20. Identify the figure that completes the pattern :

(A) (1)

(B) (2)

(C) (3)

(D) (4)

(A) (1)

(B) (2)

(C) (3)

(D) (4)
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GENERAL ENGLISH

21. Choose one of the following options that means the opposite of the given word :

HEARTFELT

(A) Loving (B) Insincere

(C) Unhealthy (D) Humorous

22. Choose one of the following options that means similar to the given word :

INDIFFERENT

(A) Neutral (B) Unkind

(C) Precious (D) Mean

23. Find the correctly spelt word :

(A) Deppricate (B) Dapricate

(C) Depricate (D) Deprecate

24. Out of the four alternatives, choose the one which can be substituted for the given

sentence :

A disease that spreads over a large area.

(A) Academic (B) Epidemic

(C) Incorrigible (D) Invincible

25. In this question, four alternatives are given for the Idiom/Phrase in bold in the

sentence. Choose the alternative which best expresses the meaning of the Idiom/

Phrase as your answer :

Dowry is a burning question of the day.

(A) a widely debated issue (B) a dying issue

(C) a relevant problem (D) an irrelevant issue
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26. Fill in the blank with an appropriate preposition :

Let us travel.............night, it will be cool then.

(A) in (B) by

(C) at (D) during

27. Given below are four jumbled sentences. Select the option that gives their correct

order :

P : The subjects taught in the Gurukul varied from Sanskrit to Mathematics.

Q : Indian education has its roots in the ancient ages.

R : However, this system changed when the British came to India.

S : In those days the Gurukul system was followed.

(A) SRPQ (B) QRPS

(C) RQPS (D) QSPR

28. In this question, a sentence given with blanks is to be filled in with an appropriate

word(s). Choose the correct alternative out of the four :

He was so.............at his job that he was asked to give a.............to the visitors.

(A) adept-demonstration

(B) able-disclosure

(C) agile-demolition

(D) accurate-display
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29. Direction : In this question, a sentence/part of the sentence is bold. Below are

given alternatives to the bold sentence/part of the sentence which may improve

the sentence. Choose the correct alternative :

He sent a word to me that he would be coming late.

(A) sent word (B) had sent a word

(C) sent words (D) No improvement

30. Fill in the blank :

Arjun has a bachelor’s degree from.............University of Madras.

(A) the (B) an

(C) a (D) None of these

31. Direction : In this question, a sentence is given with a blank to be filled in with

an appropriate word. Choose the correct alternative out of the four :

I.............lunch one hour ago.

(A) have had (B) had had

(C) have (D) had

32. A sentence has been given in direct form. Out of the four alternatives, choose

the one that best expresses the same sentence in indirect form :

Deven said to Annu, "Meena will leave for her native place tomorrow."

(A) Deven told Annu that Meena will leave for her native place tomorrow.

(B) Deven told Annu that Meena left for her native place the next day.

(C) Deven told Annu that Meena would be leaving for her native place tomorrow.

(D) Deven told Annu that Meena would leave for her native place the next

day.
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33. Change the voice :

The new gardener looks after the plants well.

(A) The plants looked after well by the new gardener.

(B) The plants were looked after well by the new gardener.

(C) The plants are looked after well by the new gardener.

(D) The new gardener is looked after well by the plants.

34. Direction : In this question, a sentence is divided into four parts. There is an

error in one of the parts, which makes the sentence grammatically or contextually

incorrect. Choose the option with the part containing error :

None of two girls/who were present/appeared to be inclined/to listen to sane

advice.

(A) None of two girls

(B) who were present

(C) appeared to be inclined

(D) to listen to sane advice

35. Instruction : Choose the most appropriate adjective from the options to fill in

the blank :

Despite facing numerous challenges, she remained.............and optimistic,

determined to achieve her goals.

(A) cynical (B) resilient

(C) apathetic (D) flamboyant
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Direction (Q. Nos. 36-40) : Read the passage carefully and answer the following
questions :

Gone are the days of hulking desktop computers and mountains of physical servers.

The cloud, a vast digital sky brimming with processing power and storage, has emerged
as the new frontier of computing. Imagine a network of interconnected data centers,
spread across the globe, accessible through a simple internet connection. That's the
essence of cloud computing, offering on-demand resources servers, storage, databases,

software – as a readily available service, readily scalable to your needs.

Think of it as renting an apartment in a virtual skyscraper. You don't need to own the
building, maintain the infrastructure, or worry about space limitations. With cloud
computing, you simply choose the size and features you require, pay for what you use,

and voila! – your virtual office is set up, accessible from anywhere with an internet
connection.

This paradigm shift revolutionizes how businesses operate. Startups can launch on a
shoestring budget, unburdened by upfront hardware costs. Established companies can

optimize their IT infrastructure, scaling resources up or down based on demand,
enhancing agility and cost-effectiveness. The cloud's flexibility empowers collaboration,
enabling teams to work seamlessly on projects in real-time, regardless of location.

However, the cloud isn't without its own set of challenges. Security concerns arise with
sensitive data stored remotely, prompting robust cybersecurity measures. Dependence
on internet connectivity poses a vulnerability in case of outages, disrupting operations.
Additionally, migrating existing systems to the cloud can be a complex undertaking,

requiring careful planning and execution.

Despite these challenges, the benefits of cloud computing are undeniable. Its scalability,
accessibility, and cost-efficiency are propelling its adoption across diverse industries.
From healthcare to finance, retail to education, the cloud is transforming how we

compute, collaborate, and innovate. So, the next time you fire up your laptop, remember,
you might not be working on your machine at all, but soaring through the boundless
possibilities of the cloud.
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36. Which sentence best infers a challenge of cloud computing ?

(A) The cloud offers a convenient way to share files with colleagues.

(B) Cloud-based applications can be accessed from any device with an internet

connection.

(C) Migrating large datasets to the cloud can be a time-consuming process.

(D) The cloud provides a secure environment for storing sensitive data.

37. The passage suggests that cloud computing is :

(A) A temporary solution for businesses with limited resources.

(B) A rapidly growing trend with significant potential to reshape industries.

(C) An outdated technology facing competition from newer computing models.

(D) Mainly suitable for tech-savvy companies with advanced IT needs.

38. What does the phrase "virtual skyscraper" imply in the passage ?

(A) A physical data centre located in a tall building.

(B) A cloud-based infrastructure offering various computing resources.

(C) A metaphor for the vastness and accessibility of the cloud.

(D) A comparison of cloud computing to traditional on-premise systems.

39. Antonym for "on-demand" in the passage is :

(A) Available (B) Flexible

(C) Scheduled (D) Reliable

40. Synonym for "hulking" in the context of the passage :

(A) Sleek (B) Compact

(C) Powerful (D) Antiquated
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GENERAL HINDI

41.

(A) (B)

(C) (D)

42.

(A) (B)

(C) (D)

43.

(A)

(B)

(C)

(D)

44.

(A)

(B)

(C)

(D)

45.

(A) (B)

(C) (D)
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46.

(A) (B)

(C) (D)

47.

(A) (B)

(C) (D)

48.

(A)

(B)

(C)

(D)

49.

(A) (B)

(C) (D)

50.

(A) (B)

(C) (D)
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51.

(A) (B)

(C) (D)

52.

(A) (B)

(C) (D)

53.

(A) (B)

(C) (D)

54.

(A) (B)

(C) (D)

55.

(A)

(B)

(C)

(D)
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56.

(A)

(B)

(C)

(D)

57.

(A) (B)

(C) (D)

58.

(A) (B)

(C) (D)

59.

(A) (B)

(C) (D)

60.

(A) (B)

(C) (D)
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GENERAL KNOWLEDGE

61. Epigraphy is the study of :

(A) Coins (B) Inscriptions

(C) Beads (D) Seals

(Epigraphy)

(A) (B)

(C) (D)

62. Neeraj Chopra won Olympic Gold in :

(A) Hammer Throw (B) Shotput

(C) Javelin Throw (D) Shooting

(A) (B)

(C) (D)

63. Which of the following is a tri-city ?

(A) Panchkula-Chandigarh-Mohali

(B) Jhajjar-Jind-Karnal

(C) Rohtak-Mahendragarh-Bahadurgarh

(D) Panipat-Ambala-Nuh
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(A)

(B)

(C)

(D)

64. What is the term used for books in electronic format ?

(A) E-library (B) E-learning

(C) I-books (D) E-books

(A) (B)

(C) (D)

65. Which district of Haryana has the highest literacy rate ?

(A) Gurugram

(B) Ambala

(C) Palwal

(D) Rewari

(A)

(B)

(C)

(D)
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66. Which of the following is the ‘state tree’ of Haryana ?

(A) Peepal (B) Banyan

(C) Ashoka (D) Mango

(A) (B)

(C) (D)

67. Which of the following is a Haryanvi Movie ?

(A) Dharam-Veer (B) Chandrawal

(C) Anjana (D) Heer-Ranjha

(A) (B)

(C) (D)

68. Which country won the 2023 Cricket World Cup in the fifty-overs format ?

(A) India (B) Pakistan

(C) Australia (D) New Zealand

2023

(A) (B)

(C) (D)
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69. Local Self-government is not concerned with..............

(A) Public Health

(B) Sanitation

(C) Public Utility Services

(D) Maintenance of Law and Order

(A)

(B)

(C)

(D)

70. Which of the following states has never had a female Chief Minister ?

(A) Rajasthan

(B) West Bengal

(C) Tamil Nadu

(D) Haryana

(A)

(B)

(C)

(D)
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71. Ganga is formed by Bhagirathi and Alaknanda at..............

(A) Prayag (B) Haridwar

(C) Devprayag (D) Rishikesh

(A) (B)

(C) (D)

72. Hero MotoCorp factory in Haryana is located at which of the following

places ?

(A) Dharuhera (Rewari)

(B) Palwal

(C) Faridabad

(D) Pinjore

(A)

(B)

(C)

(D)
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73. ‘Beti Bachao-Beti Padhao’ was launched by the Prime Minister on 22nd January,

2015 from which state ?

(A) Rajasthan (B) Kerala

(C) Haryana (D) U.P.

22 2015

(A) (B)

(C) (D)

74. The capital of Maharashtra is :

(A) Nagpur

(B) Mumbai

(C) Nasik

(D) Pune

(A)

(B)

(C)

(D)
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75. Name the paper which was edited by Mahatma Gandhi in South Africa :

(A) Indian Opinion (B) Harijan

(C) Indian Mirror (D) Young India

(A) (B)

(C) (D)

76. Mahabharat was originally known by which of the following names ?

(A) Dharma Bharat

(B) Panchali Katha

(C) Jay Samhita

(D) Jai Bharat

(A)

(B)

(C)

(D)
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77. The Revolt of 1857 was started from..............

(A) Lucknow (B) Jhansi

(C) Meerut (D) Kanpur

1857

(A) (B)

(C) (D)

78. The famous novel ‘Anandmath’ is based on which of the following ?

(A) Chuar Revolt (B) Sanyasi Revolt

(C) Poligar Revolt (D) Talukdar’s Revolt

(A) (B)

(C) (D)

79. The Munda rebellion was led by which of the following leaders ?

(A) Birsa (B) Kanhu

(C) Tilak Manjhi (D) Sidhu
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(A) (B)

(C) (D)

80. At which of the following places did King Harshvardhan establish his capital

at Kurukshetra in 700 AD ?

(A) Pehowa

(B) Thanesar

(C) Ladwa

(D) Jhansi

700

(A)

(B)

(C)

(D)
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FUNDAMENTALS OF COMPUTER

81. The ‘heart’ of the processor which performs many different operations is

called :

(A) Arithmetic and Logical Unit

(B) Motherboard

(C) Control Unit

(D) Memory

(A) (ALU)

(B)

(C)

(D)

82. The ALU gives the output of the operations and the output is stored in the :

(A) Memory Devices (B) Registers

(C) Flags (D) Output Unit

ALU

(A) (B)

(C) (D)

83. The process of division on memory spaces is called :

(A) Paging (B) Segmentation

(C) Bifurcation (D) Dynamic Division

(A) (B)

(C) (D)



(3)M-23012-C(TR) 30

84. Number of bits in ALU is :

(A) 4 (B) 8

(C) 16 (D) 2

ALU

(A) 4 (B) 8

(C) 16 (D) 2

85. LAN refers to :

(A) Parity (B) Local Area Network

(C) Information Security (D) Cache Memory

LAN

(A) (B) (LAN)

(C) (D)

86. Which one of the following is true ?

(A) A Printer has in-built memory

(B) A Printer does not have any memory

(C) A Printer carries Interpreter

(D) A Printer carries Compiler

(A)

(B)

(C)

(D)
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87. Components that provide internal storage to the CPU are :

(A) Registers (B) Program Counters

(C) Controllers (D) Internal chips

(A) (B)

(C) (D)

88. Saving data and instructions to make them readily available is the job of :

(A) Storage Unit (B) Cache Unit

(C) Input Unit (D) Output Unit

(A) (B)

(C) (D)

89. Which of the following is used to hold running program instructions ?

(A) Primary Storage

(B) Virtual Storage

(C) Internal Storage

(D) Minor Devices

(A)

(B)

(C)

(D)
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90. Which of the following is non-volatile storage ?

(A) Backup (B) Secondary

(C) Primary (D) Cache

(A) (B)

(C) (D)

91. A non-erasable disk that stores digitized audio information is :

(A) CD (B) CD-ROM

(C) DVD-R (D) DVD-RW

(A) CD (B) CD-ROM

(C) DVD-R (D) DVD-RW

92. Causing the CPU to step through a series of micro-operations is called :

(A) Execution

(B) Runtime

(C) Sequencing

(D) Pipelining
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(A)

(B)

(C)

(D)

93. The functions of execution and sequencing are performed by using :

(A) Input Signals (B) Output Signals

(C) Control Signals (D) CPU

(A) (B)

(C) (D)

94. Computer has a built-in system clock that emits millions of regularly spaced

electric pulses per.............called clock cycles.

(A) second (B) millisecond

(C) microsecond (D) minute

(A) (B)

(C) (D)
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95. The operation that does not involve clock cycles is.............

(A) Installation of a device

(B) Execute

(C) Fetch

(D) Decode

(A)

(B)

(C) (Fetch)

(D)

96. What does “WAN” stand for in networking ?

(A) Wireless Area Network

(B) Wide Area Network

(C) Web Application Network

(D) Wired Access Network

“WAN”

(A)

(B)

(C)

(D)
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97. MAR stands for :

(A) Memory Address Register

(B) Main Address Register

(C) Main Accessible Register

(D) Memory Accessible Register

MAR

(A)

(B)

(C)

(D)

98. During the execution of the instructions, a copy of the instructions is placed in

the :

(A) Register (B) RAM

(C) System heap (D) Cache

(A) (B)

(C) (D)
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99. The ultimate goal of a compiler is to :

(A) reduce the clock cycles for a programming task

(B) reduce the size of the object code

(C) be versatile

(D) be able to detect even the smallest of errors

(A)

(B)

(C)

(D)

100. When performing a looping operation, the instruction gets stored in

the :

(A) Registers (B) Cache

(C) System heap (D) System stack

(A) (B)

(C) (D)



Q. No. Ans Q. No. Ans Q. No. Ans Q. No. Ans Q. No. Ans

1 B 21 B 41 C 61 B 81 A

2 C 22 A 42 A 62 C 82 B

3 A 23 D 43 D 63 A 83 B

4 C 24 B 44 A 64 D 84 C

5 B 25 A 45 B 65 A 85 B

6 B 26 C 46 C 66 A 86 A

7 A 27 D 47 D 67 B 87 A

8 A 28 A 48 B 68 C 88 A

9 C 29 A 49 A 69 D 89 A

10 A 30 A 50 C 70 D 90 B

11 C 31 D 51 D 71 C 91 A

12 D 32 D 52 B 72 A 92 C

13 C 33 C 53 A 73 C 93 C

14 D 34 A 54 C 74 B 94 A

15 C 35 B 55 D 75 A 95 A

16 D 36 C 56 C 76 C 96 B

17 C 37 B 57 B 77 C 97 A

18 C 38 C 58 C 78 B 98 D

19 B 39 C 59 A 79 A 99 A

20 B 40 A 60 B 80 B 100 B
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